3. M HBHH (FER25%)

X o || 1B |2R|3A |48 |58 |6A | 7R | 8A | 98 |10A|11A|12H
KoK | 2 - - - - - - - 1 1 - - -
BRKE - - - - - - - - - - - - -
K # 8 = 2 - 3 - - 1 - - - -
RBEW, | 124 11 9 14 9 8 10 10 14 5 12 8 14
FTEKE | 20 - 1 1 1 3 1 3 2 1
EEFR 7 1 - - - 1 - 2 - 1 - 1 1
— BB | 210 21 18 14 18 17 10 19 15 22 23 11 22
ho F 7 - - 1 - 1 2 2 - - 1 - -
BiE1TA | 11 1 1 - 1 2 1 1 1 1 1 1 -
a2 f5 | 888 111 62 63 78 63 59 75 107 47 67 60 96
BnfEiE | 111 14 6 10 9 9 6 15 7 9 11 4 11
z D 9 1 - 2 - 1 - 1 2 - 1 - 1
Hi 1,397 160 99 107 116 108 91 127 150 87 119 87 146
B HBAARED
4. KEHEBRUVRE
N BT EisEH | EY
= % HFBB R — X i3 =] BE1E
REWEY | | 2,0 | ME| 28| 28 | B |wes|ass| KE
By 15
& & F t#e #s #s X A KX m FH
T RE204F 31 23 10 6 1 8 53 1 5 3112 134723
TRE214 31 26 14 7 - 3 37 2 1 786 38,673
T RE224F 31 22 18 5 - 2 20 2 - 1,845 62,007
T L2346 31 24 16 4 - 1 13 1 - 2629 213,304
T RE 244 31 26 14 5 - - 13 0 2 184 3,532
T RE 254 31 15 7 3 - 1 10 1 - 484 32,203
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